Name: Stellenweise_Ldsung 06.01.2025

u/ f|gla|bj|e 1 u/ f|gla|b|e 1 u/fjgla|bj|e 1
314 +(1]18|2]= 6|84 |+[2|1]3]|= 317 +(2|14|8]|=

u|lflg b|e 2 Ajlu|figla|lb|e 2 Ajlu|f|gla|b|e 2
714(1|-13(2|6]|= 119 +(413(8|= 5|4 -1312(1|=
Alu gla|b|e 3 u glal|bj|e 3 glalb|e 3
5(2|6|+(3|7 = 2(8|3] - 419 |= 43|5|+|2(7|6]|=
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Name: Stellenweise_Ldsung 06.01.2025

u/ f|gla|bj|e 1 u/ f|gla|b|e 1 u/fjgla|bj|e 1
81 +11]19(4]= 5|6 -12141(8|= 2|3|4|+|5|6|7]|=
u|/f|igla|b|e 2 Alu gla e 2 u/ f|igla|b|e 2
310 +(418|7|= 411 +12|8(9(= 717 -1212(2]|=
u|/figla|b|e 3 Alu glal|bj|e 3 u g b|le 3
8[3|-15(7|= 118[9(+|7|6|2]= 412(9|+|5[|1|3]|=
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Name: Stellenweise_Ldsung 06.01.2025

Ajlu|f|g|la|b|e 1 u/ f|gla|b|e 1 9 u/fjgla|bj|e 1
112 +1910]|= 9(9|-13|2]|= 712|-14(8]|=
u glalb 2 u|/figlalb|e 2 u/ f|igla|b|e 2
8|3 + 412 |= 5184+ 2(9]|= 8|6|+|5(7|=
Alu gla|b|e 3 Ajlu|fig|a e 3 u/ f|igla|b|e 3
418(9|-12(6|7]|= 112|3|+|4|5|6|= 6(4|-(2(7|=
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Name: Stellenweise_Ldsung 06.01.2025

u gla|b|e 1 u/ f|gla|b|e 1 u gla|bj|e 1
5(3|+]|2(9]|= 8[5|-13[8]|= 714|+[1(9]|=

u|/f|igla|b|e 2 Alu gla|bj|e 2 flgla e 2
9(1|-14|6|= 417 |+|5|6|= 2|34 |+[1|5]|7]|=
u|/figla|b|e 3 u/figlalb|e 3 u glal|b|e 3
3(8|+|6|4]|= 619|-[3[1]|= 4(18|12|-12(6|3]|=
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Name: Stellenweise_Ldsung 06.01.2025

u/ f|gla|bj|e 1 u gla|b|e 1 u/fjgla|bj|e 1
316 +14|17|2]= 3(8|+|6|7]|= 5|/2-(3|9]|=
u gla|b|e 2 u|/figlalb|e 2 u/ f|g b|e 2
714 |+]|2(8]|= 614|1]-(3|1]2]= 8|14|+|7|6|=
u|/figla|b|e 3 Alu glal|bj|e 3 u/ f|igla|b|e 3
9(1|-14|6|= 112[9(+(3|8|4]|= 912|-13|4|=
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Name: Stellenweise_Ldsung 06.01.2025

u gla|b|e 1 u/ f|gla|b|e 1 u/fjgla|bj|e 1
6(8|+|2|5]|= 6|13|1|-[5|1]7]|= 713|-12(9]|=
u|lflg 2 flg e 2 u/ f|g b|e 2
6(2|1|+[3|5|8]= 3(5|4|+|2(6]|7]|= 8|1|+|4|6]|=
u g b|le 3 u/figlalb|e 3 flgla|b|e 3
9(7|2|-|5|6|3]|= 9(2|+|3|8]|= 6|5|-(3(8
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Name: Stellenweise_Ldsung 06.01.2025

Ajlu|f|g|la|b|e 1 u gla|b|e 1 u gla|bj|e 1
418 +(311|7]= 7(9|+4(8]|= 713|+[2(4|8]=
u|/fliglal|b 2 u|/figlalb|e 2 Ajlu|f|gla|b|e 2
6(3|1]|-(4|1]2]= 8(4|-13|7|= 5|6(4|-18|7]=
u|/figla|b|e 3 u/figlalb|e 3 u/ f|igla|b|e 3
714|+(2]9]= 418(2|-13|9]|= 917 |+[3(8|1]=
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